
An open economy with a government sector is in equilibrium. Households in this economy save
$100 million and firms spend $150 million on investment.

Which combination of the budget balance and the current account balance would lead to an
equilibrium position on the circular flow of income?
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current account balancebudget balance

$50m deficit$100m deficitA

$50m surplus$100m deficitB

$50m deficit$100m surplusC

$50m surplus$100m surplusD

An economy’s manufacturing share of real GDP fell from 30% in 1990 to 12% in 2023.

Which type of unemployment would have resulted from this?
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cyclicalA

frictionalB

structuralC

voluntaryD

Which statement is not correct?19

The long-run aggregate supply curve can be downward sloping.A

The long-run aggregate supply curve can be horizontal.B

The long-run aggregate supply curve can be upward sloping.C

The long-run aggregate supply curve can be vertical.D

The price of a pack of six eggs rises from $1.00 to $1.32 over a year. Consumer prices, as measured
by the consumer price index, rise by 10% over the same period.

What is the real price of a pack of six eggs at the end of the year?
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$1.32D$1.20C$1.10B$1.00A
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